LOGICAL REASONING |

Type I Method

In this type of questions Lwo Statements -

lollowed by two conclusions are given. You have
1o take the given statemenis 1o be true even if
they seem to be at variance [rom commonly known
facts and then to decide which of the given
conclusions logically follows frem the given two
statements, disregurding cormmpnly known facts
Such questions should be solved as far as
possible by Venn diagrams. On the basis of
statements draw 0s many Venn diagrams as
possibie, then the conclusions should Le consiklered

in the light of those drawn Venn diagramns. The
sonclusions, which are coalirmed by all Venn

diagrams, are correcr.

The following exampla will illustrate the idéa
claarly

Example: Two statements qiven below are
tollowed by two conclusions (1) and (If). Find out
which of the two conclusions Jogically folows Irom
the given statements. Give answer (a) if anly
conclusion (1) follows; (b) if only conclusion (I1)
follows; (¢) if hoth (£} and (II) follow; {d) if eithec (I)

or (11} follows and (e) if neicher {I) nor (1) follows.

Statements: (i} No boy is thief.
{il) Some man are thieves
Caouclusions: {I} Sorae men are not boys

{II} Sume thieves are not men.
Answer with Explanation (a): from the two
statements at the most only following five Venn
diagrams are possible.

Fg. I

WA

Fig. T
Thievoes . .
“""‘
ig. IV , Thirves
Fiy. v

From tho above tive figures it is clear, that some
part of the cicle of men is separate from the circle
of beys, therefore, 'some men are nol boys™ is
confirmed. But some part of the vitcle of thisves is
separate from the circle of men in some Nigures while
it is not separate in other ligures. Therefore,
contclusion II is not confirmed.

- Examples

Directions (Q. 1-6): [n ecach of the foliowing
questions there are two statements followed by
two conclusions (1) and (I1). You hava Lo Lake these
two statements to be wrue even i they seem to be
at vanance from commeonly known [acts and then
dectde which of the given conclusions logically
follows from the given statements, disregarding
the commonly knowo facts. If only congiusion (I)
follows frem the statement then mark A; if only
conclusion (II) follows then mark B; il both (I) and
(I} follows then mark C: it either (1) or {11} follow
then mark ID; and il neither (1) nor (I1) follows, then
mark E.

1. Statements: (1) Mohan is a good sportsman.
(ii) Spertsman are generally
healthy. y
Conclusions: (I) All healthy persens are
Sporisman
(IT) Mohan is healthy.
(a) A () B
{c) C (@ D







{1} Some men are educated.
{ii} Educated persons prefer
sinall Families,

2, Statemonts:

Conclusions: () All small families are
educaled,
(ID) Some men prefer smali
families.
@ A M). B
() C d D
- (e) E
Statements: (i) All men are chairy.
(ii) All chairs are tables.
Conclusions: (i) All men are tablas.
(II) Seme chairs are men
@ A ®) B
{(c) C (d D
(e) E ;
Statements: (1) All boys are rivers.
{ii) Some rivers are giris.
Conclusions: (1) Some gitls gre boys,
{1} Some boys are girls.
@ A (b) B
{c) C @ D
“(e) E
Statements:  {i) All birds are parrot.”
(i) Shyam is a parrot.
Conclugions: {[) Shyam is a bird.
(I All parrots are birds.
@ A () B
) C @ D
(e) E
Statements: (1} Some bags are cigarettes,

{1i) Some nen-bags are tables
Conclusions: (1) Some bags are tables.
(I} All bags are not cigarcttes,
Directions (Q. 7-11): In the following questions,

there are (wo statements followed by two
conclusions (1) and (II). You have to take these wwo
statements to be true even if they seam 1o he at
variance from commonly knewn facts and then
decide which one of the given conclusions logically
follows from the given statements. Giva answer

(@) ifonly conclusion (I) follows;
(b) if only conclusion (II} follows;
(c) ifeither (1} or (1) follows;
(d) if neither {I) nor (I} tollows;
(e) ifkorh (1) and (II} fellow.
Statements; (i) Some pots are rats.,
(ii) All rats are bricks.

Conclusions: ([) Some rats are bricks.
(ID All pots are not bricks.
(@ A () B
{c) C (@ D
(e E

8. Statements:

(1) All apples are bananas.
(ii) All bananas are sweet,

Conclusions: (I) Some apples are sweet,
{Il) Soma bananas are apples.
@ A () B v
© C @ D
(®) E

9, Statements:

(i) All {ans ara‘tables.
(ii) No rable is costly.

Conclustons: (I) All tables are fans.
(ID No fan is costly.

@ A () B

() C (d D

(e %

10, Statemeonts:

(1) All dogs are caty,
(i1) Some cats are black:

Conclusions: (I) Some dogs are hlack.
(I} Some caty are dogs.
@ A b) B
() C (@ D
e) E
11, Statements: (i) Some pocts are fools,
(i1} All feols are goats.
Conclusions: () Some poets are goats.
(D Some fools are poets.
@ A M) B
{c) C @ D
(@ T

Directions (Q. 12-16): In the following
questions, two statements ace given followed by
two conclusions, (I) and (IT). You have to consider
the two slutements to be true, even if they seem
to be at variance from commonly known facts. You
are to dacide which of the given conclusion
defioitely follows from the given statements.
Indicate your answur as (a) if only (1) follows; (b) if
only (II) follews, {(c) if neither (1) nor (11) follows,
or (d) if both [ and II follow, (e) either {{) or (II)
follows.

12. Statements: (i) Some wbles are glasses.

(ii) All trees are tahles.

Canclusions: {I) Soms trees are glasses.
(1) Some glasses are trees.







13. Statements: (i) No man is a donkey,
{(ii)) Ramesh is 2 man.
() Ramesh is not a donkey.
(1} All men are not Rarnesh,
(1) All boys are mothers
(ii) All mothers are fathers.
(1) All mothers are boys
(0 All boys are fathers
{1) Some aeroplanes are fiving
beings,
(ii) Some non-living beings are
ghosts.
{I) Some aeroplanes are ghost,
(I Some aeroplanes are not
ghosts.
(i} A pots are cups.
(i} Al cups are bowls.
(I} All pors are bowls.
{1} All cups are pots.
Directions (Q. 17-21): In each question below,
arc given twe statements followed by two
conclusions numbered (I} and (IT). You have o take
the two given statements to be true even if they
$@@im to be at variance [rom commonly known facts
and then decide which of the given conclusions
legically follows from the twe given statements,
disregarding cammonly known facts. Give answer
{a), if only conclusion (J) follows; give answer (b)
it only concluston (II) follows; give answer (c) if
either (I} or (I1) follows; give answer (d) if neither
(I) nor (11) follows, and give answer {e} if both (1)
and (II) follow, ’

Conclusions:
14. Statements:
Conclusions:

15, Statements:

Conclusions:

16. Statements:

Conclusions:

17. Statements: (i) Some chairs are rabbits,
. (1) Table is a chair.
Conclusions: () Some rabbits are chairs

({0 Table is not a rabbit.

(1) All peacocks are cookers.
tii) Some cookers are plates.
(I} Some peacocks are plates.
{i1) Some plates are peacocks,

18. Statements:

Canclusions:

19. Statements: (i) All plants are Nowers,
(13} Seme (lowers ace pens.
Conclusions: (1} All plants are pens.
(iI) Some plants are pens.
20. Statements: (i) All helicopters are buses,
(i) All buses are cars.
Conclusions: (I) All buses are belicopters

(1) Ali helicoprers are cars

|22, Statemnents:

21. Statements: (i) All cars are guns.
(il) Ne gun i& rod
Conclusions: (I) All quns are cars.

(Il) No car is rod.

Directipns (Q. 22-26): In each of the questuons
balow, are given two statements followed by two
conclusions numbered as {1} and (If}. You have to
take the given statements to be true even if they
seem to be at variance with commeonly ¥nown facis
and then decide which of the glven conclusions
logically follows from the two statements,
disregarding commenly known, facts. Give answer

{a) if only conclusion (1) follows,
) if only conclusion (I7) follows,
(c) if either (I} or {1I) follows,
{d) if nemther {I) aor (I} follaws,
(e) if both (I) and (11) follow
(i) Some apples are yollow.
{ii) Golden is an apple.
(I} Some apples are green.
(I) Golden is yallow,
() Al spoons are plates.
(ii) All plates are trays.
(1) All spoons are trays.
(lI) Some trays are spoons,

Conclusions:

23. Statoments:

Conclusions:

24, Statements: (i) All trucks fly.
(ii) Some scooters fly.
Conclusions: (I) All trucks are scooters,
(1) Some scooters do not fly.
25, Statements: (i) Some jackals are deers.
. (i1) Some deers are tigers
Conclusions: (1) Some jackals are tigers
(I} All deers are jackals.
26. Statemeots: (i) Some crows are dogs.,
(i) All doys are faithful,
Conclusions: (1) All faithful animals are dogs.

() Seme crows are faithful.

Directions (Q. 27-32): In each of the questions
below, are given two statemenis lollowed by two
conclusion numbered (1) and (II). You have Lo take
the two given statements w be true even if they
seem to be at variance from commonly known facts
and then decide which of the given conclusion logically
follows from the two statements, disregarding
commonly known facts. Give answer (a) it only
conclusion {I) foliows; give answers (b) if oniy
conclusion (II) follows; give answer (¢) if either (T) or
(I follows; give answer (d) if neither () nor (1) follows
and give answer {e) if both (I) and (I} follow.







27. Statements: (i) Some birds are clouds.

{11) Horse is a bird.
{1} Some clouds are birds. .
(I1) Horse is not a cloud.
(i} Some birds arc clouds.

(1) Horse is a bird.
() Borso is u cloud.

{II) Some clouds are not bicds.
(i) All streets are watches.

(11) All watches are cagles.

. (D) All streets are eafles.

(1) A)l watches are streets.
(1) &ll screets are watchas.

{11} All watches are eagles.
(I} All eagles are straels.

(I} All cagles are watches.
(i) All tables are ants.

{ii) Some unts are chairs.
(I) Some tables are chairs.

(i) Sume chairs are tables.
(i) All tables are ants.

(i) Surne ants are chalrs
(1) All ants are tables.

{II) Some chairs are not ants,

Directions (Q. 33-37): In each queston below,

are given two statements followed by two conclusions
numbered (I) and (I1). You have to take the two given

_statements to be true even il they seem 0 be at
varance trorm commonly known facts and then decide
which of the given conclusions logically tollows from
the two given statements, disregarding, commonly
known facts. Give answer (a) if only conclusion (1)
follows; give answer (b) if only conclusion (IT) follows;
give answer (¢} if cither (1) or (I1) followes; give anywer
(d) if neicher {I) nor (IT) follows, and give answer {e) iff

. both (I} und (IT} Tolloae

Conclusions:

28. Statenments:

Conclusivns:

29, Statemonts:

Conclusions:

30. Statements:

Conclusions:

21, Starements:

Cenclusions:

32. StaLemoents:

Conclusions:

33. Statements: (i) All students are bays.
{ii) No boy is dull.
Conclusions: (1) No student is dull,
(Il There are no girls in the
class.
34, Statements: (i) All men gre webles,
{ii) All tables are graduates.
Conclusions: (I) All tables are men.
{I) All men are graduntes.
35. Statements: (i) Some cooks are lazy.
(i) All boys are lazy.
Counclusions: () Sume buys are covks.

(lI) Seme cooks are boys.

36. Statements: (i) Most trains are gentlemen.
(ii) Some gentlemen are tanks.
Conclusions: (I) Some tunks are gentlemen.

(II} Some trains ore tanks.

37. Statements: (i) Al holiday are.years.
(ii) Some years vre $LaIs.
Conclusions: (I) All stars are holidays,

. (N All stars are years.

Directions (Q. 38-42): In each ol Lthe questions,
thera ure (wo statements followed by two
conclusions. You hove 1o take these statements (0
be tue cven if they seem to be oL variance from
commonly known lacis and then decide which of
the given conclusions logicully follows from the
statements. Give answer (a) if only conclusion (I)
follows: (b) if conclusion (IT) follows: {(c) if either
(1) or (11) follows, (d) if neither (I} nor (II) follows
and (e) il both (I} and (1) follow.

38, Statements: {i) All Jowers are girls,
(i1) Some girls ure baautitul.
Conclusions: () All flowers are beautiful,

(11) Some flowears 2re bagulilul,
{1) All vehicles are cars.
(ii) No car is costly.

39. Statements:

Conclusions' ([) All cars are vehicles,
(I Ne vehicle is costly.
40, Statemants: (i) Some mangoes are sweet.
(ii) Some sweets are fruits.
Conclusions: ([) Some mangoes are fruits.
@Iy Seme frails are mango.
41. Scatemnents: (i) All children are boys.
(ii) All boys ara players.
Conclusions: (I) All children are players,
(1) All boys are players.,
42. Statements: (i) All cows ara Rambha.
(ii) Some huffaloes are Rambha.
Conclusions: (I) All Rambhas are not cows,

(ID Some Rambhas are not
butfaloes.

Directions (Q. 43-47): In each of the quustiony,
there are two statements followed by two
conclusions. You have Lo take the two given
statements te be true even if they seem to be at .
variance with commonly known facts and then
decide which of the given conclusicns logically
fellows from the two statements disregarding
commonly known facis. Give answer

(a) if only conclusions (i} follows
(b) if only conclusions (II) fellows







() if etther (I or (I follows
{d) if nerther (1} nor (1I) follows
{e) if both (D) and {1I) fcllow.

43. Statements: (i) All coats ave bags
(ii) Some bugs are Loys.
Conclusions: (1) Some bags are coats,
(ID) Seme toys are coats.
44, Statements: (i) Some kites are horses.
(1) All herses are dogs.
Conclusions: (I} All dogs are herses.
(i) Some degs are horses.

(i) All books are chairs.
{1i) All chairs are pens,
(1) All books are pens,
{TI) Some pens are books.
(i) All poets are readers.
(ii) No reader is wise.
{I} No poet is wisa.
() All readers are poets.
(i) Some caps are tables.
{11) Some Lables are chairs.
(I} Some caps are chairs.
(II) Some chairs are caps.
Directions (Q. 48-52): In each question below,
are given two starements followed by two
conclusions {[) and ({I). You have to take the given
statements ww be true evan if they seem 1o be at
variance from commenly known facts and then
decide which of the given conclusions logically
follows from the two statements, disregarding
cormunonly known facts. X
Give onswer (a) if only conclusion (I) follows;
give answer (b) if only (I1) follows: give answer
{c) if either (1) or (1) follows; give answer (d) if
ueither {I) nor (I1) follows; und give answer (e) if
both (1) and {[[) follow.

48, Statements: (i} Some boys are clouds.
(i) Gopal is a boy.

(I) Soma clouds are boy.
() Some boys are not ciouds.
(i} All streets anc aircraft.
(i) All mareraft are parrots.

(1) All parrots are streets,
(I1) All parrots are aircraft.

(i) All chairs are apples.

(i) Some apples are tables

{D) All apples are chairs. "

(II) Some tables are not upples.

45. Statements:

Conclusions:

46. Statements:

Conclugions:

47. Statements:

Conclusions:

Conclusions:

49. Statements:

Conclusions:

50. Swatements:

Conclusions:

51, Statements: (i) Some boys are clouds.
(1) Gepal is a boy.
Conclusions: (I) Gopal is a cloud.

(i) Some clouds are not boys,

52. Statements: {i) All streets are aircraft.
(ii) All aircraft are parrots.
Conclusions: (1) All streets are parrots.

(1) All aircraft are streets.
Dixections (Q. 53-57): In each of the questions,

there are two statements followed by two
conclusions. You have to take these given
statements to be true even if they seem to be at
variance from comumonly known facts and then
decide which of the given conclusions logically
foilows trom the given stataments. Give answer

(a) if only conclusion (f) follows;

(b} if only conclusion (I1) follows;

(c) if both (I) and (11} follow:

@ if either (1) or {1) follows;

(e) if peither {I) nor (M) follows.

53. Statemants: (i) Some essayists are poers,
(tiy All poets are dramatists.
Conclusions: (1) Some poets are essayists.
(I} Soma  essayists  are
dramatists.
54. Statements: (i} All eggs are cotten.
(i) All rotren are in bad basket.
Conclusions: (I) All the rotten are not eggs.
(0) All eggs are in bad basket.
55. Statements: (i) All men are prisoners.
" (ii) No prisoners are educated.
Conclusions: (I) All prisoners are educated.

(I No men are educated.
(i) Some soidiers are famous.
(1) Some soldiers are intelligent.
(I) Some soldiers are either
famous or intelligent.
(I} Some soldiers are neither
famous nor intelligont.
(i) Some quicks are fierces.
(i) All fierces are angry.
() Some guicks are angry.
(II) Some fierces are quicks.
Directions (Q. 58-62): In each of the questions,
there are two statements followed by two
conclusions numbered (I) and (1), You have to take
the two given statements to be true even if they
seem 1o be a1 variance from commonly known facts
and then decide which of the given conclusions

56. Statements:

Conclusions:

57. Statements:

Conclusions:







logically follows from the Lwo given stalements.

Give answer

@
b)
(c)
{d)
()
58, Statements:

if only conclusion (i) followy;
i only conclusion (M) foilows;
if both (I} and (II) follow;

if either (i} or {II) follows,

if neither (I) nor (II) follows

{t) Some authors are painters,
{1) All painters aro honest.

Conclusions: () All honest persons are
painters.
(II) Some authors are honest.
59. Statements: (i) All tables are horses,
(ii) All horscs arc rivers.
Conclusions: (I) All tables are rivers.

60. Statements:

Conclusions:

(I1) Some rivers ave tables.

{i) &ll pocrs ure authors,

(it} All singers are authors.

(1) All singers are poets,

(f1) Some authors are not
singers.

(i) Some trees are horses.
{ii) Biscuit is & tree.

(D) Biscuit is not a horse.,
(I1) Some horses ave rees.

(i) All tigers are ships.

(i) Someé ships are cupboards,
(I) Some tigers are cupboards.
(I} Sorm: cuphunrds dre Ligers.
(1) All tigers are ships. '
{ii) Some ships are cupboards.
(I} Some ships are Ligers.

(Ii) Some cupboards are not

ships.

Directions (Q. 68-72): In each of the questions,
thers are two staiements followed by two
conclusions. You have to take the two given
statements to be true even if they seem 1o be at
variance from commonly known facts and then
decide which of the two given conclusions logically
follows from the two given statements. Give
answer (a) it only conclusion (1) follows; (b} if only
cenclusion (1) follows; (¢) if either (1) or (1) follows,
(d) if neither {I) nor (IT) follows and (e) if both (I)
and (II) follow

65. Statements:
Conclusic’ms:
66. Statements:
Conclusions:
67. Statements:

Conclusions:

61. Statements: (i) All cats are dogs.
(i) Some dogs are black. |
Conclusians: (I} Somne cats are black
: (1) Biack dogs are not cars.
62. Statements: (i) Sorne crowsy dare cows,
. (ii) Some cows are cats.
Conclusions: (I) Some crows are cats.

(ID All crows are cats.
Directions (Q. 63-87): in each questions bolow,
are give two statements followed by two conclusions
numbered (1) and (). You have o lake the two given
statements o be rue even if they scam to be at
. varianos from commonly known facis and then decide
which o'the given conclusions logically follows from -
the two given swiemants, disregarding commnunly
known facts. Give answer (a) if only cenclusion (1)
ollows; give answer () if only conclusion Q1) follows;
give answer (¢} if either (I) or (1) fallows; give answer
(d) it neither (I} nor () fullows; and give answer (e) if
both (I) and (11} fallow,
63. Statements: (i) All pencils are bricks.
{i1) All bricks are bottles.
Conclusions: (I) Some botLles are pencils,
{f1) Some borttles are bricks, 1

68, Statements: (i) All dogs are chairs,
{11} All chairs are tables.
Conclusions: (1) Somc tables are chairs.
{11) Some: tables nre dogs,
69. Statements: (i) Some oranges are crows.
(1) Some crows are apples.
Conclusions: (I) Some orange are spples.

70. Statements:

() Some apples are crows.
(i) All dogs are chairs.
(i) All chairs are tables,

Conclusions: (I} All dogs are tables,
() All tables are chairs
71. Statements: (i) All mangees arc parrots.
{ii) No parrot is green.
Conclusions: (1) No mangoss sre green
(I Some parrots are mangues.
72. Statemants: (i) Some pens are birds,
(i) All cats ace birds,
Conclusions: ({I) Somne cats are pens.

(Il) Sarme birds are pens.

Directions (Q. 73-77): In each of the questions-

64. Statements:

(i) All pencils are bricks.

(il) A bricks are botzles.
(1) All penctls are bhottles.
Iy All bricks arc pencils.

Conclusions:

below, are given two statements followed by two
conclusions numbered (I) and (II). You have to take
the qiven statements o be true even if théy scem
e be at variance from commonly known facts and
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